z MITSUBISHI
ELECTRIC
Changes for the Better

AIR CONDITIONING SYSTEMS

HYBRID

CITY MULTI

DATA BOOK

MODEL

PKFY-WL-VLM-E
PKFY-WL-VKM-E




CONTENTS

Wall mounted

PKFY-WL-VLM-E, PKFY-WL-VKM-E

LS o =L O 1 10N I 1 SR 2
2. EXTERNAL DIMENSIONS ... .ottt ettt e et e e s et e s sae e e e s e e e mseeesmeeeeaneeeesneeeenteeeneeeennes 5
3. CENTER OF GRAVITY oottt ettt ettt e ettt e e et e e st e e e atae e ansteeeasseeeanteeessseeesnsseesnsesnneeeanseeennns 9
4. ELECTRICAL WIRING DIAGRAMS ...ttt et e et e st ee e sstee e seeee e s teeeeanteeesnneeeanteeesaneeeeanseeeaneeeans 10
5. SOUND LEVELS ...ttt ettt ettt e e e et e e e st e e eae e e e smt e e e amse e e amneeeeseeeeaneeeesnneeeanseeennns 12
Lo S T T U g T I (Y=Y P RSOPR 12
52, INC CUIVES ..ottt ettt et e ettt e e st e e a e e e am et e e ameeeeamneeeemteeeamnteeennseeeanseeenneeesneeeeaseeeennne 12
6. TEMPERATURE/AIRFLOW DISTRIBUTIONS........ooiiiiiiiiiie ettt saae e enbe e 13
6-1. Temperature distriDULIONS .......cooo i e e e e e e e e e e e e e e e e s e e enenrnrnenaees 13
6-2. AIrflow distDULIONS ..o et e et e et e e et e e e snneeeeneeeeenne 16
7. ELECTRICAL CHARACTERISTICS ...ttt sttt ettt e e eatee e st e e e ente e e nnsee e snbeeeensaeennes 19
8. OPTIONAL PARTS .....ceeieiieie et eee et e et e e ettt e e st eeeate e e e neea e seeeaasaeeeaaseeeanseeeansaeeeaseeeeasbeeeaseeesnneeeansenennns 20
8-1. Optional parts line up for the INAOOr UNit..........coociiiiiiii e 20
8-2. DIFAIN PUMIP <ttt ea ettt e et e ekt e e a et eea et e e bt e et e e e ene e e e es b e e eae e e e nnneeeanreeenan 20
8-3. VAIVE Kil ..ottt ettt e e et e e et e e eaa e e et be e e e ne e e e beeeeateeennreeeanaeeeanraeeann 21
8-4. AHAChMENT PIALE ...ttt 21
e ST ] g Y= To IR SRR 21
MEES20K038 MITSUBISHI ELECTRIC CORPORATION 1



PKFY-WL-VLM-E, VKM-E

1. SPECIFICATIONS

Wall mounted

Model

PKFY-WL10VLM-E

PKFY-WL15VLM-E

PKFY-WL20VLM-E

Power source

1-phase 220-240V 50Hz,
1-phase 220V 60Hz

1-phase 220-240V 50Hz,
1-phase 220V 60Hz

1-phase 220-240V 50Hz,
1-phase 220V 60Hz

Cooling capacity *1 | kW 1.2 1.7 2.2
(Nominal) *1|BTU/h 4,100 5,800 7,500
Power input kW 0.02 0.02 0.03
(220v) Current input A 0.20 0.20 0.25
Heating capacity *2 | kW 1.4 1.9 25
(Nominal) *2|BTU/h 4,800 6,500 8,500
Power input kW 0.01 0.01 0.02
(220V) Current input A 0.15 0.15 0.20
External finish Plastic, MUNSELL (0.7PB 9.2/0.4) Plastic, MUNSELL (0.7PB 9.2/0.4) Plastic, MUNSELL (0.7PB 9.2/0.4)
External dimension HXWxD mm 299x773x237 299x773x237 299x773x237
in. 11-25/32 x 30-7/16 x 9-11/32 11-25/32 x 30-7/16 x 9-11/32 11-25/32 x 30-7/16 x 9-11/32
Net weight kg(lbs) 11 (25) 11 (25) 11 (25)
Heat exchanger ) Qross fin ) Qross fin ) (?ross fin
(Aluminum fin and copper tube) (Aluminum fin and copper tube) (Aluminum fin and copper tube)
Water Volume [ L 0.6 0.6 07
FAN Type x Quantity Line flow fan x 1 Line flow fan x 1 Line flow fan x 1
External static press. Pa 0 0 0
mmH,0 0 0 0
Motor Type DC motor DC motor DC motor
Motor output | kW 0.030 0.030 0.030
Driving mechanism Direct-driven by motor Direct-driven by motor Direct-driven by motor
Airflow rate m3/ min 3.3-3.8-4.1-4.5 3.3-3.8-4.3-4.9 4.0-5.0-6.0-7.0
(Low-Mid2-Mid1-High) L/s 55-63-68-75 55-63-72-82 67-83-100-117
cfm 117-134-145-159 117-134-152-173 141-177-212-247
(SI_‘;“’A’I“’M‘I’(;'ZS,\SA‘I’Q? _'a‘i/;'])(meas“’ed in anechoic room) | 45 p, 22-26-28-30 22-26-29-32 22-28-33-36
Insulation material Polyethylene sheet Polyethylene sheet Polyethylene sheet
Air filter PP honeycomb PP honeycomb PP honeycomb
Protection device Fuse Fuse Fuse
Refrigerant control device - - -
HYBRID CITY MULTl/ HYBRID CITY MULTI/ HYBRID CITY MULTl/
Connectable outdoor unit/HBC controller/Hydro unit CMB-WM-V-AA, CMB-WM-V-AB/ CMB-WM-V-AA, CMB-WM-V-AB/ CMB-WM-V-AA, CMB-WM-V-AB/
CMH-WM-V-A CMH-WM-V-A CMH-WM-V-A
Water piping . . Inlet in. RC 3/4 screw RC 3/4 screw RC 3/4 screw
diameter Connection size Outlet | in. RC 3/4 screw RC 3/4 screw RC 3/4 screw
Inlet mm |.D 20 20 20
Field pipe size
*3*4 Outlet mm I.D 20 20 20
Field drain pipe size mm(in.) 1.D. 16(5/8) 1.D. 16(5/8) 1.D. 16(5/8)
Drawing External BT01B059 BT01B059 BT01B059
Wiring RH79C061 RH79C061 RH79C061
Refrigerant cycle - - -
Standard attachment | Document Installation Manual, Instruction Book Installation Manual, Instruction Book Installation Manual, Instruction Book
Mount board, Screw, Felt tape, Mount board, Screw, Felt tape, Mount board, Screw, Felt tape,
Accessory Cgmpression joint, Ll-shlape cpnnection Clompression joint, Ll-shlape cgnnection Cpmpression joint, L.'Sh?Pe cgnnection
pipe A/B, Compression joint ring (15), | pipe A/B, Compression joint ring (215), | pipe A/B, Compression joint ring (215),
Insulation, Tie band Insulation, Tie band Insulation, Tie band
Optional parts Drain pump kit PAC-SK01DM-E PAC-SK01DM-E PAC-SK01DM-E
Valve kit *5 PAC-SK35VK-E PAC-SK35VK-E PAC-SK35VK-E
6m Lead wire PAC-SK40LW-E PAC-SK40LW-E PAC-SK40LW-E

Attachment plate

PAC-SK39AP-E

PAC-SK39AP-E

PAC-SK39AP-E

1.Nominal cooling conditions
Indoor: 27°CD.B./19°CW.B. (81°FD.B./66°FW.B.), Outdoor: 35°CD.B. (95°FD.B.)
Pipe length: 7.5 m (24-9/16 ft.), Level difference: 0 m (O ft.)
2.Nominal heating conditions
Indoor: 20°CD.B. (68°FD.B.), Outdoor: 7°CD.B./6°CW.B. (45°FD.B./43°FW.B.)
Pipe length: 7.5 m (24-9/16 ft.), Level difference: 0 m (O ft.)
3.Be sure to install a valve on the water outlet.
4.Install a strainer (40 mesh or more) on the pipe next to the valve to remove the foreign matters.
5.Certain restrictions apply to indoor unit combinations.
Refer to the section on the valve kit in the chapter "OPTIONAL PARTS" in the DATA BOOK for the restrictions.
When the valve kit is installed farther away from the HBC than the distance between the HBC and the WL-model indoor unit,
the maximum allowable height difference between the HBC and the valve kit is 15 meters.
The maximum allowable piping length between the indoor unit and the valve kit is 5 meters.
*Please group units that operate on 1 branch.

Remarks * Details on foundation work, duct work, insulation work, electrical wiring, power source switch, and other items shall be
referred to the Installation Manual.
* Due to continuing improvement, above specification may be subject to change without notice.
Notes: Unit converter

BTU/Mh =kW x 3,412
cfm  =m%min x 35.31
Ibs =kg/0.4536

*Above specification data is
subject to rounding variation.

MEES20K038

MITSUBISHI ELECTRIC CORPORATION




1. SPECIFICATIONS

Wall mounted

Model

PKFY-WL25VLM-E

PKFY-WL32VLM-E

PKFY-WL40VLM-E

Power source

1-phase 220-240V 50Hz,
1-phase 220V 60Hz

1-phase 220-240V 50Hz,
1-phase 220V 60Hz

1-phase 220-240V 50Hz,
1-phase 220V 60Hz

1.Nominal cooling conditions

2.Nominal heating conditions

Indoor: 27°CD.B./19°CW.B. (81°FD.B./66°FW.B.), Outdoor: 35°CD.B. (95°FD.B.)
Pipe length: 7.5 m (24-9/16 ft.), Level difference: 0 m (O ft.)

Indoor: 20°CD.B. (68°FD.B.), Outdoor: 7°CD.B./6°CW.B. (45°FD.B./43°FW.B.)

Pipe length: 7.5 m (24-9/16 ft.), Level difference: 0 m (O ft.)
3.Be sure to install a valve on the water outlet.
4.Install a strainer (40 mesh or more) on the pipe next to the valve to remove the foreign matters.
5.Certain restrictions apply to indoor unit combinations.

Refer to the section on the valve kit in the chapter "OPTIONAL PARTS" in the DATA BOOK for the restrictions.

When the valve kit is installed farther away from the HBC than the distance between the HBC and the WL-model indoor unit,

the maximum allowable height difference between the HBC and the valve kit is 15 meters.

The maximum allowable piping length between the indoor unit and the valve kit is 5 meters.
*Please group units that operate on 1 branch.

Cooling capacity *1 | kW 2.8 3.6 4.5
(Nominal) *1|BTU/h 9,600 12,300 15,400
Power input kW 0.04 0.04 0.05
(220V) Current input A 0.35 0.35 0.45
Heating capacity *2 | kW 3.2 4.0 5.0
(Nominal) *2|BTU/h 10,900 13,600 17,100
Power input kW 0.03 0.03 0.04
(220V) Current input A 0.30 0.30 0.40
External finish Plastic, MUNSELL (0.7PB 9.2/0.4) Plastic, MUNSELL (0.7PB 9.2/0.4) Plastic, MUNSELL (0.7PB 9.2/0.4)
External dimension HxWxD mm 299x773x237 299x898x237 299x898x237
in. 11-25/32 x 30-7/16 x 9-11/32 11-25/32 x 35-3/8 x 9-11/32 11-25/32 x 35-3/8 x 9-11/32
Net weight kg(lbs) 11 (25) 13(29) 13(29)
Heat exchanger ) Qross fin ) (?ross fin . (;ross fin
(Aluminum fin and copper tube) (Aluminum fin and copper tube) (Aluminum fin and copper tube)
Water Volume [ L 0.7 1.0 1.1
FAN Type x Quantity Line flow fan x 1 Line flow fan x 1 Line flow fan x 1
External static press. Pa 0 0 0
mmH,0 0 0 0
Motor Type DC motor DC motor DC motor
Motor output | kW 0.030 0.030 0.030
Driving mechanism Direct-driven by motor Direct-driven by motor Direct-driven by motor
Airflow rate m?3 / min 4.0-5.4-7.0-8.4 6.3-7.6-9.0-10.4 6.4-8.2-10.0-11.9
(Low-Mid2-Mid1-High) Lis 67-90-117-140 105-127-150-173 107-137-167-198
cfm 141-191-247-297 222-268-318-367 226-290-353-420
(SI_%“’A'I“’M‘I’QESEA‘:(;? _'ﬁfger:)(meas“’ed in anechoic room) | 4p x5 22-30-36-41 29-34-38-41 30-36-41-45
Insulation material Polyethylene sheet Polyethylene sheet Polyethylene sheet
Air filter PP honeycomb PP honeycomb PP honeycomb
Protection device Fuse Fuse Fuse
Refrigerant control device - - -
HYBRID CITY MULTI/ HYBRID CITY MULTl/ HYBRID CITY MULTV/
Connectable outdoor unit/HBC controller/Hydro unit CMB-WM-V-AA, CMB-WM-V-AB/ CMB-WM-V-AA, CMB-WM-V-AB/ CMB-WM-V-AA, CMB-WM-V-AB/
CMH-WM-V-A CMH-WM-V-A CMH-WM-V-A
Water piping X . Inlet in. RC 3/4 screw RC 3/4 screw RC 3/4 screw
diameter Connection size Outlet | in. RC 3/4 screw RC 3/4 screw RC 3/4 screw
Inlet mm |.D 20 20 20
Field pipe size
*3*4 Outlet mm L.D 20 20 20
Field drain pipe size mm(in.) 1.D. 16(5/8) 1.D. 16(5/8) 1.D. 16(5/8)
Drawing External BT01B059 BT01B060 BT01B060
Wiring RH79C061 RH79C061 RH79C061
Refrigerant cycle - - -
Standard attachment | Document Installation Manual, Instruction Book Installation Manual, Instruction Book Installation Manual, Instruction Book
Mount board, Screw, Felt tape, Mount board, Screw, Felt tape, Mount board, Screw, Felt tape,
Accessory Clompression joint, L;shgpp cpnnection Clompression joint, L.'Sh?Pe cgnnection Qompression joint, I_l-sh_ape cgnnection
pipe A/B, Compression joint ring (215), | pipe A/B, Compression joint ring (215), | pipe A/B, Compression joint ring (215),
Insulation, Tie band Insulation, Tie band Insulation, Tie band
Optional parts Drain pump kit PAC-SK01DM-E PAC-SK01DM-E PAC-SK01DM-E
Valve kit *5 PAC-SK35VK-E PAC-SK35VK-E PAC-SK35VK-E
6m Lead wire PAC-SK40LW-E PAC-SK40LW-E PAC-SK40LW-E
Attachment plate PAC-SK39AP-E PAC-SK39AP-E PAC-SK39AP-E
Remarks * Details on foundation work, duct work, insulation work, electrical wiring, power source switch, and other items shall be
referred to the Installation Manual.
* Due to continuing improvement, above specification may be subject to change without notice.
Notes: Unit converter

BTU/Mh =kW x 3,412
cfm  =m%min x 35.31
Ibs =kg/0.4536

*Above specification data is
subject to rounding variation.

MEES20K038

MITSUBISHI ELECTRIC CORPORATION

F-INMA ‘T-WIA-TM-ANd



PKFY-WL-VLM-E, VKM-E

1. SPECIFICATIONS

Wall mounted

Model PKFY-WL50VKM-E PKFY-WL63VKM-E PKFY-WL80VKM-E
Power source 1-phase 220-240V 50Hz, 1-phase 220-240V 50Hz, 1-phase 220-240V 50Hz,
1-phase 220V 60Hz 1-phase 220V 60Hz 1-phase 220V 60Hz
Cooling capacity *1 | kW 5.6 71 9.0
(Nominal) *1|BTU/h 19,100 24,200 30,700
Power input kW 0.04 0.05 0.07
(220v) Current input A 0.46 0.56 0.76
Heating capacity *2 | kW 6.3 8.0 10.0
(Nominal) *2|BTU/h 21,500 27,300 34,100
Power input kW 0.04 0.05 0.07
(220V) Current input A 0.40 0.50 0.70
External finish Plastic, MUNSELL (1.0Y 9.2/0.2) Plastic, MUNSELL (1.0Y 9.2/0.2) Plastic, MUNSELL (1.0Y 9.2/0.2)
External dimension HxWxD mm 365 x 1170 x 295 365 x 1170 x 295 365 x 1170 x 295
in. 14-3/8 x 46-1/16 x 11-5/8 14-3/8 x 46-1/16 x 11-5/8 14-3/8 x 46-1/16 x 11-5/8
Net weight kg(lbs) 20 (44) 20 (44) 20 (44)
Heat exchanger Cross fin Cross fin Cross fin
9 (Aluminum fin and copper tube) (Aluminum fin and copper tube) (Aluminum fin and copper tube)
Water Volume [ L 2.0 2.0 2.0
FAN Type x Quantity Line flow fan x 1 Line flow fan x 1 Line flow fan x 1
External static press. Pa 0 0 0
mmH,0 0 0 0
Motor Type DC motor DC motor DC motor
Motor output kW 0.069 0.069 0.069
Driving mechanism Direct-driven by motor Direct-driven by motor Direct-driven by motor
Airflow rate m3/ min 18-20 18-22 18-26
(Low-High) L/s 300-333 300-367 300-433
cfm 636-706 636-777 636-918
Sound pressure level (measured in anechoic room) dB <A> 39-42 39-45 39-49
(Low-High)
Insulation material Polyethylene sheet Polyethylene sheet Polyethylene sheet
Air filter PP honeycomb PP honeycomb PP honeycomb
Protection device Fuse Fuse Fuse
Refrigerant control device - - -
HYBRID CITY MULTl/ HYBRID CITY MULTI/ HYBRID CITY MULTl/
Connectable outdoor unit/HBC controller/Hydro unit CMB-WM-V-AA, CMB-WM-V-AB/ CMB-WM-V-AA, CMB-WM-V-AB/ CMB-WM-V-AA, CMB-WM-V-AB/
CMH-WM-V-A CMH-WM-V-A CMH-WM-V-A
Water piping . . Inlet in. RC 3/4 screw RC 1-1/4 screw RC 1-1/4 screw
. Connection size -
diameter Outlet | in. RC 3/4 screw RC 1-1/4 screw RC 1-1/4 screw
Inlet mm |.D 20 30 30
Field pipe size
*3*4 Outlet mm I.D 20 30 30
Field drain pipe size mm(in.) 1.D. 16(5/8) 1.D. 16(5/8) 1.D. 16(5/8)
Drawing External RKO1N845 RKO1N845 RKO1N845
Wiring BT79B108 BT79B108 BT79B108
Refrigerant cycle - - -
Standard attachment | Document Installation Manual, Instruction Book Installation Manual, Instruction Book Installation Manual, Instruction Book
Mount board, Screw, Felt tape, Mount board, Screw, Felt tape, Mount board, Screw, Felt tape,
L-shape connection pipe A/B, L-shape connection pipe A/B, L-shape connection pipe A/B,
Accessory N . N " N ’
I-shape connection pipe A/B, |-shape connection pipe A, |-shape connection pipe A,
Insulation, Tie band Insulation, Tie band Insulation, Tie band
Optional parts Drain pump kit PAC-SK19DM-E PAC-SK19DM-E PAC-SK19DM-E
Valve kit *5 PAC-SK35VK-E PAC-SK35VK-E PAC-SK35VK-E
6m Lead wire PAC-SK40LW-E PAC-SK40LW-E PAC-SK40LW-E
Attachment plate PAC-SK39AP-E PAC-SK39AP-E PAC-SK39AP-E
Remarks * Details on foundation work, duct work, insulation work, electrical wiring, power source switch, and other items shall be
referred to the Installation Manual.
* Due to continuing improvement, above specification may be subject to change without notice.
Notes: Unit converter
1.Nominal cooling conditions BTU/h =kW x 3,412
Indoor: 27°CD.B./19°CW.B. (81°FD.B./66°FW.B.), Outdoor: 35°CD.B. (95°FD.B.) S Y
Pipe length: 7.5 m (24-9/16 ft.), Level difference: 0 m (0 ft.) cfm m*/min x 35.31
2.Nominal heating conditions Ibs =kg/0.4536
Indoor: 20°CD.B. (68°FD.B.), Outdoor: 7°CD.B./6°CW.B. (45°FD.B./43°FW.B.)
Pipe length: 7.5 m (24-9/16 ft.), Level difference: 0 m (O ft.)
3.Be sure to install a valve on the water outlet.
4.Install a strainer (40 mesh or more) on the pipe next to the valve to remove the foreign matters.
5.Certain restrictions apply to indoor unit combinations.
Refer to the section on the valve kit in the chapter "OPTIONAL PARTS" in the DATA BOOK for the restrictions.
When the valve kit is installed farther away from the HBC than the distance between the HBC and the WL-model indoor unit,
the maximum allowable height difference between the HBC and the valve kit is 15 meters.
The maximum allowable piping length between the indoor unit and the valve kit is 5 meters. *Above specification data is
*Please group units that operate on 1 branch. subject to rounding variation.

MEES20K038

MITSUBISHI ELECTRIC CORPORATION




PKFY-WL-VLM-E, VKM-E

Wall mounted

Unit: mm

PKFY-WL10, 15, 20, 25VLM-E

2. EXTERNAL DIMENSIONS

0 - HIONTLIDH 4RO T Ve FOHT0R 3IVIdNOLLVTIVISN] SIg TORTIVAN
G3TIVLSNI 38 LONNY) LINN BOOGNI 3HL 3did 1431 % V38Y 100 L) ONIdId $30NN SLY - FI0OHTIVM LINNHOOANI
[TO6P]  NOILYINSNI & IS &
3ddNIY§ R ~
AT9IF| NOIDINNDD IO NIV4 VIV I0ID & SEECURE 7 SIS A
g 304N N
g 3dd1n0 ERY TN m (THNVISEIANOT U
WI0S 7g0d | LFILN0 ¥3LVM s : B
WS pgoy | TN NOILOINNOD| v \r N | TR i : TLsT
“INTNLATNO LHOIL 3835 10N 0 ° S 057 ] @ Lt
"NINIAZIIS $IMOT ONY ¥3ddN FHLNO SINVAOLNY //k _:_ A /k
(€¥9) TI0H 31714 NOLLYTIVLSNI 1Y LHOIL M3EDS 68l N - o
NI 7+++HIONY : bl
b7+ 431310 TYNIAON M3EDS ONIddvL TLsL — ] L6l
8/€M Y0 0L 3LY7d NOLLYTIVLSNI 404 1108 ONIINNOW 7 = > 726 = = o | - f4¢]
"NOLLYTTYLSNI 404 7101 9%
NOISNaWIQ 3HL ¥3QISNOD 3DINY0D SN HO4 'L 1 [ 1%
ONidid ¥3LVM WOLLOg LS 534
0 0 4 1l
| 9l ) = — L
(3dINNE8E 08l 3SOHNIVEd 0 , )
NOILO=NNOD / IOz %I 34 . 0 Wi
| ] Pl b0 e
, TT0H ONIXH ATEVH0dNAL Py 5
ERBERBa » S 2 G T aRNBE 8
y 2SI oS oo & 9o N W = 08Q) ~ SL@ 910}
=" - (O I N ) N N~ 2l
? _ I TIOHHONOKHL|  3AFTTS
3 W W W
: 4 4 0L 6l
Y0018 TYNINGIL = 56
¥3TIONINOD LLONBYI = = =
Y3078 TNTWEL NOTSSTSNYEL W3\0) INTVA DANG Y S
D018 TYNIWGIL ATddNS G3m0d (3149 IHL NIJO)INOYS
3dldNIVHQ
3d1d NIVSQ'3dId H3LYM o VIV INOID )
V38Y L0 L) ONIdid LHOW = ~ U
< I ) s & a
59 =
%[ = 59
Y |
P &~ <
o g S
8
—Vy G
H 1 i J10H SNIdId 404
1n01ND 40 5v13a
3IV1d NOLVTIVISNI 1HOY , ~ INOY 1471 S
Lo 7 ‘NIWos1 . NI 0E
— NOLLYTIVLSNI dWNd NIVHQ
—_— \ \A TYNOLLJO 40 ISYI NI
N0
. N0y / I
= bl i
L = I ! | = . T I EFR~
I 591 doL gc = \ g
z , /

(LINN 4O0ONIIDVdS A3INDY

MITSUBISHI ELECTRIC CORPORATION

MEES20K038



Wall mounted

o mm

Unit

MITSUBISHI ELECTRIC CORPORATION

2. EXTERNAL DIMENSIONS

PKFY-WL32, 40VLM-E

(LINN YOOANIIDYdS 3HINDY

005 -+ HIONT) A 44 VA S 1dd NVHC I MLV oz_mﬁ%ﬁ%ﬁﬁ o o S TOHTIVAA o -
3TIVISNI 38 JONNYD LINN BOOGNI 3HL 3dld L4317 VARV 10 11D ONIdI 43aNT - 8 o =R s & g 4
(@O/6Z3] NOLYINSNI 1ddNIVE s ooor ™ o e = oo 4434
@ %_@ NOILDINNOD 3SOH NIvyd Y34V N0 LD \ f s
wmwm 3ddN ONidd FEERY | TETOT 3 b1z u = x
341410 HILYM
MaI0s p/gd | LF1LN0 ¥3LVM 5 - £ \ 0 0 //K el
MeI0S p/§0d | LTINI4ELVM NOLLOINNOD| ¢ L68l L6l
INITNIAINO LHOLL /i3S 10N 0 CLLl H— — il
CKINIAZ3TISEIMOT ONY ¥3ddn JHLNO 9
(€) T10H 3L¥Td NOLLYTIVISNI 1y IHOIL M3HDS ezl T T = I
NIW 52+ -HLONG o e
7+ H2LINYIQ TYNINON M3EDS ONIddv L = G :
$/EMYO OLW31¥1d NOLLYTIVISNI HO3 1108 SNLINNOW 7 i Lo §ee
NOLLYTIYLSNI §04 O A= 4 9l
NOISNIIWIQ 3HL H3QISNOD “TDINHOD ONITID 404 L SINVAO. WOLLOS & u —_— 7L
GIEERET] 091 0 i TR )
ERIER 443 gl a 04,08
NOILOINNOJ | 3SOHNIVE *oy,00xs
7 An__& Inonze 88l LINASO0CNI e ~ — =
muwm 7 MMW W = a3 [ 3 ,M .m WMM 08Q) ~SL() SL@
il , [ =R SOLg~00L@ | 00l
_ 4 ___ IVIGNOLVTIVISN] TOH ONIXH ATgVa0aNAL TI0HHONOUHL|  3AT3TS
-]
ﬁ_ |4_, 097
€1e
SO0T8 TVNINGAL U3 TIOHING) JLOWIE-VIV : % ﬁ = ”
D078 TYNIWEIL NOISSINSNYYL 08— = = ﬁm W -
YDO T8 IYNING3L A1ddNS §IMOd 300D IATVA TN HIV b
(37149 IHL NIdO)LNOY4 >
N3ZEOIdIAYT ONILVE3d0 NI tle
3d1d NIVYQ'3dld Y3LVM 14 100
V34Y IN0 1D ONidid LHOM 868 WY 101N o /
3 Ji34 661 059 67 Q 3did z\
m 1 3did¥ILYM 40 STIVIIA
< 8 0L ]
_ S = K e 60 7 =
W o W = = 7 =
< (]
~_ /KQ\ S N —
IVIGNOLVTTVISN] v g ) d
TI0H ONIdld 404
1HON INOY IEE) 101D 0 STV
‘NIW09¢ . NIW 0S€
95 e 1)) NIN0S \ R
NIN0S
T 131Lnody / e
| i 2 ,
= & . = 1 I zz2lz
had ©g= = | ] 3% 2
— — 222 [\ B 53
| 2 =2 g2
. L 1 1 1 1 1.J W W M W W
= EF] 3
- E# & Iy \ \ =
4 g QoL g . / 7,

F-INMA ‘T-WIA-TM-ANd

MEES20K038



PKFY-WL-VLM-E, VKM-E

Wall mounted

Unit: mm

589 HIONIT 3A1103443 3dId NIVYQ -

"ONTdId L1437 HLIM Q3TTVLISNI

<

38 LONNYD LINN YOOQNI 3HL “3dId 1437 °

(070062 @] NOILYINSNI

(0 191 @ NOILIINNOD ISOH N1VY(Q
88°GI QD 3dld 1IN0 ONIdld
98613 3dId NI Y3ILVM] -

CTYNNYR)YIANOT

3dId NIVY0 3dId 43LVA

¥34Y¥ LNO 1D ONIdId 43NN ONTdId ¥Ov8 LHOIY 404

JT0H 1TV

G0EY
G 0€S

T

[ —— 4\‘\‘\lwiu‘¢‘\‘\x — -

Y34Y LD INIdId LHOIY

PKFY-WL50, 63, 80VKM-E

2. EXTERNAL DIMENSIONS

CINTT N ATINO LHOTL M3¥DS LON 00
“AINIAT IAIS ¥IMOT ONY ¥3ddN JHL NO
(€°7¢) 3T0H 3LV1d NOILYTTVLSNI LV LHOIL M3¥OS

NIW G2---HIONIT

7o 4ILINVIQ TYNTNON “MIYOS ONTddVL

8/EM 4O OIN

~31V7d NOILYTTYLSNI 404 1708 ONILNNOW

"NOITLYTIVISNI 404

NOTSNIWIQ 3HL ¥3QISNOD -3DINHOD ONITIID ¥O4 °

—

3dId 10012 99¢

i
(ONTLYIH/ONIT100D)
HOLIMS NOILY43d0 AONI9YINI

(3dId ND6 Pl

¥2078 TYNIW4IL 43 TI04INOD FLOWIY-YH

Q4v08 LNNOW

LHOTY

§o¢

NN 062

o)

J70H ONIXTS ATI4YHOINIL

3704 M3¥IS
ONIddVL
'S @51

J70H 1708 6 D-

08P ~UP| LD
501~ 001 B 0018
30H HONOHHL | 3A331S

9 |T8¢
1

| —|
v 8 3704 ONIdId 404
1007102 40 S11V130
NIH 05¢
NN 09¢ “NOILYTTISNI dNNd NI VYO
WS WNOT1d0 40 3S¥D NI
NIV 05
131100 ¥1v
2l

‘NOTLYTTLSNI dWnd NIVYQ
1VNOILd0 40 3S¥D NI

NIN 062
NIN GG

€0yT Tl

EAERTIL]

%

Lley

7/

(LINN H4OOONI)3DOVdS Q3Y41N03y

NIW 062

‘NOTLYTIVLSNI dWnd NIvyQ

NIW L

TYNOI1d0 40 3S¥I NI

MITSUBISHI ELECTRIC CORPORATION

MEES20K038



Wall mounted

2. EXTERNAL DIMENSIONS

Unit: mm

PKFY-WL50, 63, 80VKM-E

idlId Ln0O

idId NI

VSSy | GTLLY | 6°2LV | 9Tesv | ¥IGreE GZE |(W/1-124)08/€9TM
voevy | STILY | 6°99F | 9°9yy | ¥ UBES 61¢ (7/€£24)05TM
9 v 1] v 8 v a/v
WYOM ON1dId WYOM ONIdId NYOM ONIdId
4Y34 LHOIY 404 LHOIY ¥O4|WOLIOG LHOIY 404
(ww) INTOr OL NG 3INVHD TYNOISNINIQ

idld 1nO

€9

Id1d NI

1€

HYOM ONTdId WOLLOB LHOIY Y04

vy

9°1¢

[

HYOM ONITdId d4¥34 LHOTY 404

GEs

idid 10

3dId NI

[517

GGl

HYOM ONTdId LHOIY 404

id1d 43Lvm 40 STIvLiQ

1

F-INMA ‘T-WIA-TM-ANd

MITSUBISHI ELECTRIC CORPORATION

MEES20K038



3. CENTER OF GRAVITY

Wall mounted

PKFY-WL-VLM-E, VKM-E

(mm)
Model w D H X Y z

PKFY-WL10VLM-E | 773 | 237 | 299 | 130 | 340 | 150

PKFY-WL15VLM-E | 773 | 237 | 299 | 130 | 340 | 150

PKFY-WL20VLM-E | 773 | 237 | 299 | 130 | 340 | 150

@ PKFY-WL25VLM-E | 773 | 237 | 299 | 130 | 340 | 150
D PKFY-WL32VLM-E | 898 | 237 | 299 | 120 | 390 | 150
PKFY-WL40VLM-E | 898 | 237 | 299 | 120 | 390 | 150

PKFY-WL50VKM-E | 1170 | 295 | 365 | 190 | 460 | 190

PKFY-WL63VKM-E | 1170 | 295 | 365 | 190 | 460 | 190

PKFY-WLB0OVKM-E| 1170 | 295 | 365 | 190 | 460 | 190

MEES20K038

MITSUBISHI ELECTRIC CORPORATION

F-INMA ‘T-WIA-TM-ANd



PKFY-WL-VLM-E, VKM-E

4. ELECTRICAL WIRING DIAGRAMS

Wall mounted

PKFY-WL10, 15, 20, 25, 32, 40VLM-E

D.P <fig: *1>

When attaching drain : . The black square (m) indicates
pump(option), remove When attaching drain pump a switch position.
TO NEXT the jumper connector | (Option)
INDOOR | CNA4F and fit the drain FS Models SW2 Models SW2
UNIT_ -+ TB2 float switch (FS). ELOAT sw [@}
oL i 1 NAF (WH) wito |OFF OFF
BOX TO MA-REMOTE i TB15 1 4 N WL25 | oy
P CONTROLLER{ 654321 654321
FUSE(16A)m m P DC8.7-13V !
el ; TO OUTDOOR UNIT OFF OFF
i 'D.P HBC/ HYDRO UNIT WL15 WL32 |y
BREAKER | | ! = . ME REMOTE N
v - DP CONTROLLER HED 654321 654321
(168) /¢ X® @ DC24-30V )i
P OFF
POWER SUPPLY MF TH2t - TH2Z - TH23 wizo |OFF
~/N 220-240V 50Hz @ 23 %1 on WL40 | g
220V 60Hz 654321 654321
t° t°
| 2 I . B When attaching VALVE KIT(option),
[$) remove the jumper connector
CNBA and fit the FLOW CONTROL
|:| 80,\78‘;""" 1 VALVE (FCV).
N41 (WH R
LED2 1 MK 77777777777777777777
I:I I:I
[ 14 CN51 (WH) CN52 (GN) 8
1 XXX - Fov
BK) | F CN105
ﬁ | BZ1 (WH) LT rD 8
1| 4 IEIREEN 31 1|21 4°FF°N ps2
I ] 3y 3 ] [©9 [Bood4[] ‘
CNME S CN©2  CN20  CNAd oNad ;
wH Y (WH)  (RD)  (WH)  (YE) ;
| 6 |
CNV
(WH)
X 1
654321 T cnap  LED! %
WH
VEHHHsw2 L e 2
OFF43 1 o LS8T854321 4
_ S22/ SrF 3 MV1 MV2 0
OFF ON
12 123
[DmOjswA
. CN43
4 )
8 CN82
1:3(RD)

SWE2

SWE1

Wr o ® |LB

LED1  LED2
NOTES:
SYMBOL NAME SYMBOL NAME 1.At servicing for outdoor unit,always follow the wiring diagram
1.B INDOOR CONTROLLER BOARD TH21  [THERMISTOR|ROOM TEMP. DETECTION of outdoor unit.
_g:gf CONNECTOR E:x‘?;:jyggnmm (0°CHska, 25°C/5ék‘2 2.In case of using MA-Remote controller, please connect to TB15.
TH22 PIPE TEMP. DETECTION / INLET (Remote controller wire is non-polar.)
CN52 REMOTE INDICATION WATER (0°C/15kQ, 25°C/5.4kQ) N
CN105 IT TERMINAL TH23 PIPE TEMP. DETECTION / OUTLET 3n case (.)f using M_.NET’ please connect to TBS.
521 |BUZZER WATER (0°C/15kQ, 25°C/5.4kQ) (Transmission line is non-polar.)
F1 FUSE (T3.15AL250V) AB ADDRESS BOARD 4.Symbol [S]of TB5 is the shield wire connection.
LED1_|POWER SUPPLY (1B) SW1_|SWITCH MODE SELECTION 5.Symbols used in wiring diagram above are,[ | | |: terminal
LED2 |POWER SUPPLY (MA-REMOTE CONTROLLER)| |SW11 ADDRESS SETTING 1s DIGIT block,[o o o] [ ] :connecter.
SW2 |SWITCH |CAPACITY CODE SW12 ADDRESS SETTING 10s DIGIT 6.The setting of the SW2 dip switches differs in the capacity.
SW3 MODE SELECTION SW14 BRANCH No. For the detail, refer to the fig : *1.
Sw22 PAIR NO. SETTING S.B SWITCH BOARD
SWE FAN-DRAIN PUMP (TEST MODE) | [SWE1 [EMERGENCY OPERATION(HEAT)
MF FAN MOTOR [SWE2 [EMERGENCY OPERATION(COOL)
MV1 VANE MOTOR (UPPER) W.B PCB FOR WIRELESS REMOTE CONTROLLER
MV2 VANE MOTOR (LOWER) [REC1 [RECEIVING UNIT
TB2 TERMINAL  |POWER SUPPLY LB LED BOARD
TB5 BLOCK TRANSMISSION [LED1 LED(OPERATING INDICATOR:GREEN) LED on indoor controller board for service
TB15 MA-REMOTE CONTROLLER | [LED2 [LED(STANDBY FOR HEATING : ORANGE ) Symbol Meaning Function
V.K VALVE KIT (OPTION) D.P DRAIN PUMP KIT (OPTION) ) Main power supply (Indoor unit:220-240V)
FCV__|FLOW CONTROL VALVE [FS__[DRAIN FLOAT SWITCH LED1 | Main power supply Power on — lamp is lit
PS1_|PRESSURE SENSOR 1 (INLET WATER) DP__ |DRAIN PUMP LED2 | Power supply for Power supply for MA-Remote controller
PS2 |PRESSURE SENSOR 2 (OUTLET WATER) MA-Remote controller on — lamp is lit
MEES20K038 MITSUBISHI ELECTRIC CORPORATION 10



4. ELECTRICAL WIRING DIAGRAMS Wall mounted

PKFY-WL50, 63, 80VKM-E

D.P \'When attaching drain pump
When attaching drain (optlon

— pump(option), remove \
D P the jumper connector | CN%éTV?}\-/iv @
— CN4F and fit the drain ‘

\
TO MA-REMOTE !
|

|

' |

float switch (FS). J

CONTROLLER {
DC8.7-13V

|
TH! THZ THZS B
M1} TO OUTDOOR UNIT
— V2l HBC/ HYDRO UNIT
e Jj R
P > o o = I
FUSE(weA)mm i z I {foaein) CONTROL
P |.B When attaching VALVE KiT(option),
BREAKER [ vy’
| ! = [ 5]CN2A - X9 remove the jumper connector
(168) A7 21 (BU - CNBA and fit the FLOW CONTROL
X CNRU (WH() ) |:| _’Boﬁs‘;"oo 1 %%’{' VALVE (FCV).
POWER SUPPLY [0000000000] ® CNAT(WH) = Ty V.K
~IN 220-240V 50Hz 1 LED2 5 5 e
220V 60Hz 7‘
1 4 CN51(WH) CN52 (GN
O oot e % @)y i
T CN4F —E c%os i
WH 3 3 l:l
3 ( 1) 1] ]2 1 JOFFON 1 5 o) Ve Ps2 |
C_1 B9 [Goool4[ 1, { 1 i
CN32 CN20 CN44  CN24 3, T3 :
WH)  RD)  (WH)  (YE) - PSt |
6 3
|
— 6 " ] - 4
LED2  CN301 X A.B
CNV [coo 000
REC1 (WH)[00000000 TN
L‘?} . 3 7 s Sw12 s
[T ® :
LED1 10sDIGIT 3
SWE2  SWE1 654321 CNAD @ 4
9% (WH) - swil g
\ EEHH Hswe g W :
0987654321 3
3 \_ o o 7 G S oo
123
12
4
See Fig. 1 g
[LEGEND]
SYMBOL NAME SYMBOL NAME
1.B INDOOR CONTROLLER BOARD TH21 THERMISTOR|ROOM TEMP. DETECTION
CN32 |CONNECTOR |REMOTE SWITCH (0°C/15kQ, 25°C/5.4kQ)
CN51 CENTRALLY CONTROL TH22 PIPE TEMP. DETECTION / INLET
CN52 REMOTE INDICATION WATER (0°C/15kQ, 25°C/5.4kQ)
CN105 IT TERMINAL TH23 PIPE TEMP. DETECTION / OUTLET
BZ1 |BUZZER WATER (0°C/15kQ, 25°C/5.4kQ)
F1 FUSE (T3.15AL250V) AB ADDRESS BOARD
LED1 [POWER SUPPLY (I.B) SW1_|SWITCH MODE SELECTION
LED2 [POWER SUPPLY (MA-REMOTE CONTROLLER) | [sw11 ADDRESS SETTING 1s DIGIT
SW2 |SWITCH |CAPACITY CODE SW12 ADDRESS SETTING 10s DIGIT <Fig.1> .
Sw3 MODE SELECTION Sw14 BRANCH No. The black square(s) indicates a
SW22 PAIR NO. SETTING SB SWITCH BOARD P
SWE FAN-DRAIN PUMP (TEST MODE) | [SWE1 |EMERGENCY OPERATION(HEAT) Models| _ SW2
MF FAN MOTOR [SWE2 [EMERGENCY OPERATION(COOL) wiso | OFF
MV VANE MOTOR w.B PCB FOR WIRELESS REMOTE CONTROLLER ON 654321
TB2 TERMINAL |POWER SUPPLY LED1 |LED(OPERATION INDICATOR:GREEN) OFF
TB5 BLOCK TRANSMISSION LED2 |LED(PREPARATION FOR HEATING : ORANGE) WL63 | oN
TB15 MA-REMOTE CONTROLLER REC1 |RECEIVING UNIT 654321
V.K VALVE KIT (OPTION) D.P DRAIN PUMP KIT (OPTION) OFF
FCV_|FLOW CONTROL VALVE [FS_ |DRAIN FLOAT SWITCH WL80
PS1_|PRESSURE SENSOR 1 (INLET WATER) [DP [DRAIN PUMP 654321
PS2 |PRESSURE SENSOR 2 (OUTLET WATER)
NOTES: , .
1.At servicing for outdoor unit,always follow the wiring diagram LED on indoor controller board for service
of outdoor unit. Symbol Meaning Function
2.In case of using MA-Remote controller, please connect to TB15. i i it: -
(Remote controller wire is non-polar.) LED1 |Main power supply '|\3/Iam power supply (Indoor unit:220-240V)
- ower on — lamp is lit
3.I(q_;ans;]?g;z:\ﬁnhg-::i‘gh?liT:f)connect (o TBS. LED2 Power supply for Power supply for MA-Remote controller
potar. MA-Remote controller | on — lamp is lit

4.Symbol [S]of TB5 is the shield wire connection.

5.Symbols used in wiring diagram above are,[ | | |: terminal
block, . ]:connector.

6.The setting of the SW2 dip switches differs in the capacity.
For the detail, refer to the Fig. 1.

F-INMA ‘T-WIA-TM-ANd

MEES20K038 MITSUBISHI ELECTRIC CORPORATION 11



PKFY-WL-VLM-E, VKM-E

5. SOUND LEVELS

Wall mounted

5-1. Sound levels

Wall mounted

Sound level at anechoic room: Low-(Middle2-Middle1)-High

Model

Tm

Measurement
location

Sound level dB (A)

PKFY-WL10VLM-E 22-26-28-30
PKFY-WL15VLM-E 22-26-29-32
PKFY-WL20VLM-E 22-28-33-36
PKFY-WL25VLM-E 22-30-36-41
PKFY-WL32VLM-E 29-34-38-41
PKFY-WL40VLM-E 30-36-41-45
PKFY-WL50VKM-E 39-42
PKFY-WL63VKM-E 39-45
PKFY-WL80VKM-E 39-49

* Measured in anechoic room.

5-2. NC curves

PKFY-WL10VLM-E

External Static Pressure: 0Pa [0.00in.WG]
Power Source: 220-230-240V 50Hz/220V 60Hz

70.0

PKFY-WL15VLM-E

External Static Pressure: 0Pa [0.00in.WG]
Power Source: 220-230-240V 50Hz/220V 60Hz

PKFY-WL20VLM-E

External Static Pressure: OPa [0.00in.WG]
Power Source: 220-230-240V 50Hz/220V 60Hz

External Static Pressure: 0Pa [0.00in.WG]
Power Source: 220-230-240V 50Hz/220V 60Hz

70.0

External Static Pressure: 0Pa [0.00in.WG]
Power Source: 220-230-240V 50Hz/220V 60Hz

70.0 70.0
High  50/60Hz High  50/60Hz High  50/60Hz

e e e e Middle 50/60Hz = F 650 S cSs e e Middle 50/60Hz = $ 650 S Middle 50/60Hz -
= Middle2 50/60Hz = Middle2 50/60Hz = Middle2 50/60Hz
S 60.0 ——— Low  50/60Hz—| 3 600 ——— Low  50/60Hz_| 3 600 ——— Low  50/60Hz_]
% 55.0 NC-60 % 55.0 NCE0 % 55.0 NC-60
% 50.0 % 50.0 % 50.0

N N N
g 45.0 C-50 g/ 45.0 §X C-50 g 45.0 C-50
2 400 NN 2 400 NBX 2 400
2 AN NC-40 2 W NC-40 2 NC-40
® 350 N ® 350 ® 350
5 RS 5 N 5
2 300 = 2 300 N 2 300 S e
14 g NC-30 2 = NC-30 14 NC-30
4 25.0 = a 250 4 25.0 — SN
° ™ ° SN, ° b N
S 200 S 200 ~ S 200 = =
el a el

NC-20 NC-20 NC-20
2 150 }Approximate minimum @ 15.0 FApproximate minimum 2 150 }aApproximate minimum —moe
£ 10,0 faudible limiton —— £ 10,0 faudible limiton £ 100 faudible limiton
o 50 continuous noise S o 50 continuous noise o 50 continuous noise

v 63 125 250 500 1k 2k 4k 8k ‘ 63 125 250 500 1k 2k 4k 8k v 63 125 250 500 1k 2k 4k 8k
Octave band center frequencies (Hz) Octave band center frequencies (Hz) Octave band center frequencies (Hz)

External Static Pressure: 0Pa [0.00in.WG]
Power Source: 220-230-240V 50Hz/220V 60Hz

External Static Pressure: 0Pa [0.00in.WG]
Power Source: 220-230-240V 50Hz/220V 60Hz

70.0

70.0 - 70.0 -
High — 50/60Hz High — 50/60Hz High — 50/60Hz
K S e B Y Middle50/60Hz | P 650 okt ——F === Middle_50/60Hz | P 650 oo Middle 50/60Hz -1
L Middle2 50/60Hz % Middle2 50/60Hz % Middle2 50/60Hz
S 60.0 ——= Low  50/60Hz| S 60.0 ——= Low  50/60Hz| S 60.0 ——= Low  50/60Hz{
@ 550 NCE0 @ 550 NC-6o @ 550 NC6o
8 8 8
o 500 o 500 o 500
T 450 NC-50 T 450 B NC-50 T 450 B SN NC-50
2 400 KN g 400 B $ 400
2 R NC-40 2 NC-40 2 NGC-40
© 350 B S ® 350 F=N © 350 FoN
5 N 5 5
2 300 N oS 2 300 S $ 30.0 S \
|4 NC-30 14 =N NC-30 4 NGC-30
5 250 5 250 5 250 \
° S = ] ] N EaeeNG
§ 200 § 200 § 200
NC-20 B NGC-20 NC-20
o 150 minime 2 150 fapproximate mini @ 150 £ Approximate minimt
£ 40,0 faudible limiton £ 40,0 faudible limiton £ 40,0 faudible limiton
g 10 - " 3 10. ; 5 10
o continuous noise (@] continuous noise (0] continuous noise
5.0 5.0 5.0
63 125 250 500 1k 2% 4k 8k 63 125 250 500 1k 2 4k 8k 63 125 250 500 1k 2k 4k 8k
Octave band center frequencies (Hz) Octave band center frequencies (Hz) Octave band center frequencies (Hz)

External Static Pressure: 0Pa [0.00in.WG]
Power Source: 220-230-240V 50Hz/220V 60Hz

70.0

External Static Pressure: OPa [0.00in.WG]
Power Source: 220-230-240V 50Hz/220V 60Hz

70.0

—— High 50/60Hz = High 50/60Hz ——— High 50/60Hz

£ 650 oo~ mmeee Low  50/60Hz| £ 650 s e Low _50/60Hz| £ 650 FcS oS~ -t === Low _50/60Hz|
S = =1
Q 60.0 Q 60.0 Q 60.0
~N N ~N

NC- NC- NC-
4 550 c-60 g 550 C-60 @ 550 C-60
; 50.0 ; 50.0 % 50.0
= 450 NC-50 S 450 NC-50 T 450 NC-50
2 400 2 400 $ 400
% 350 NC-40 % 350 NC-40 % 350 NC-40
5™ 5 5
$ 300 2 30.0 2 30.0
& 250 NC-30 & 250 Ne-30 5 250 Ne-30
S 25 = 5 25 5 25
< 200 £ 200 £ 200
3 8 3

NC-20 NC-20 NC-20
@ 150t Approximate minim 2 150 F Approximate mini © 150 fapp minimt
£ 10,0 audible limiton £ 10.0 |audible limiton £ 10,0 faudible limiton
o 50 continuous noise o 50 continuous noise o 50 continuous noise

T63 125 250 500 Ak 2 4k 8k Te3 125 250 500 ik 2k 4k 8k Te3 125 250 500 Tk 2 4k 8k
Octave band center frequencies (Hz) Octave band center frequencies (Hz) Octave band center frequencies (Hz)
MEES20K038

MITSUBISHI ELECTRIC CORPORATION

12



6. TEMPERATURE/AIRFLOW DISTRIBUTIONS

Wall mounted

6-1. Temperature distributions

PKFY-WL10VLM-E

i <Cooling mode>
i Horizontal air flow

24 [°Cl
2 :\ 27:0
—_— [ 27-0—
\\25_0\
—_ \
€
2 25.0
N \33-0
f\_)
0 0 1 2 3
Floor distance (m)
PKFY-WL15VLM-E
' <Coolingmode>
i Horizontal air flow
24 [°Cl
, _q“\
_\\gzm L
E \ ~25.0
E’ 1 ~23.0 N
T Nos 0\ \_/
/
% 1 2 3 4
Floor distance (m)
PREY-WL20VLM-E
{ <Cooling mode>
i Horizontal air flow
24 [°Cl
2 =i — 27.0
\\ A
e~ ~25.0
E SN
5 ) \\\23.0 \
(7]
I
\25.0 /
0 0 1 2 3 4 5
Floor distance (m)

i <Heating mode>

{ Downward air flow
24 [°C]
2
N 310 /)
E /
£
° 1 29!
T 23.0
N
25.0
X7
0 0 1 2 3
Floor distance (m)
{<Heating mode>
 Downward air flow
24 [°C]
7
23.0
E
=
>
[
) /
2 4
Floor distance (m)
{<Heating mode>
 Downward air flow
24 [°C]
E
=
k=
Qo
\
25.\0 230 | / /
2 3 5
Floor distance (m)

Note : These figures show typical temperature distributions in the conditions above. In the actual installation, they may differ

from these figures under the influence of air temperature conditions, ceiling height, cooling/heating load,obstacles,etc.

MEES20K038

MITSUBISHI ELECTRIC CORPORATION

13

F-INMA ‘T-WIA-TM-ANd



PKFY-WL-VLM-E, VKM-E

6. TEMPERATURE/AIRFLOW DISTRIBUTIONS

Wall mounted

PRy WL O LM E
<Cooling mode> ‘3 <Heating mode> ‘
i Horizontal air flow  Downward air flow
2.4 [cl 2.4 [Cl
2 — ~
I ~27.0
= Iy 25.0 =
g 250 23,0 g
21 ks
I NP
0 0 1 2 3 4 5 6 3 4 5 6
Floor distance (m) Floor distance (m)
PKFY-WL32VLM-E
' <Coolingmode> | I<Heatingmode>
i Horizontal air flow  Downward air flow
24 [l 24 r°cl
2 Dl: 2
— ]
\\\\27-0 /
_ ~ \\ ~ // R
% \\ \ 250 1 § %
§ 1 § 1 i
2501230 ) N / 3 o\
—~L 1/ [|\290\ 270 N
— BzG %0 \250~23.o_//\
25, | Q
0 0 1 2 3 4 5 6 7 0 0 1 2 3 4 5 6 7
Floor distance (m) Floor distance (m)
PREY-WLAOVLM-E
{ <Cooling mode> { | <Heating mode>
i Horizontal air flow  Downward air flow
24 ['C] 24 [’cl
2 \
— \\
Al T
B N 250 TN J B
= T~ =
g \\ - OI\ S~ £
21 ) 2
25.0 \
1/
\_/
0 0 1 2 3 4 5 6 7 3 4 5 6 7
Floor distance (m) Floor distance (m)

Note : These figures show typical temperature distributions in the conditions above. In the actual installation, they may differ
from these figures under the influence of air temperature conditions, ceiling height, cooling/heating load,obstacles,etc.

MEES20K038 MITSUBISHI ELECTRIC CORPORATION 14



6. TEMPERATURE/AIRFLOW DISTRIBUTIONS Wall mounted

PKFY-P50, 63, 80VKM-E

<Cooling mode> <Heating mode>
Horizontal air flow Downward air flow
27 19 57 LGl
—T | |25
2 T 23 2
—— _ ~
£ £ AV
5 I~ S |27 27 ~_
3 \\_> \\ P e \ 33 254 |
1 2 i 31
2! N
. 1
. \31 29 N
23 U N Iy —
0 k \\ 0 \N— ’ e R R
0 1 2 3 4 5 6 7 8 0 1 2 3 4 5 6 7 8
Floor distance (m) Floor distance (m)

Note : These figures show typical temperature distributions in the conditions above. In the actual installation, they may differ
from these figures under the influence of air temperature conditions, ceiling height, cooling/heating load,obstacles,etc.

MEES20K038 MITSUBISHI ELECTRIC CORPORATION 15

F-INMA ‘T-WIA-TM-ANd



PKFY-WL-VLM-E, VKM-E

6. TEMPERATURE/AIRFLOW DISTRIBUTIONS

Wall mounted

6-2. Airflow distributions

PKFY-WL10VLM-E

i <Cooling mode>

i <Heating mode>

MITSUBISHI ELECTRIC CORPORATION

i Horizontal air flow i Downward air flow
24 [m/s] 24 [ms]
2 2 l'
—‘:_So\
_ i— — A\
£ £
£ Z
% 1 \ g ;
£ T L0
0.5
0.5
0 0 1 2 3 0 0 1 2 3
Floor distance (m) Floor distance (m)
PKFY-WL15VLM-E
| <Cooling mode> | | <Heating mode> ‘
! Horizontal air flow  Downward air flow
24 [m/s] 24 [m/s]
2[ | 2]
—EL‘\
=S5
I I
\ 1.0
0.5
0 0 1 2 3 4 0 0 1 2 4
Floor distance (m) Floor distance (m)
PR N O LM oo oo eee oo eeeee e oeeee e eeee e oeeee oo oeee oo oeeeeeeeeeeeeeeeeoeeereeeeeeeree oo
{ <Cooling mode> { <Heating mode>
i Horizontal air flow i Downward air flow
24 [m/s] 24 [m/s]
2 2
[20= —
== £1.5
~ \\} _
£ I~ E
21 21
05 \ 1'5\
L
0570 \w
0 0 1 2 3 4 5 0 0 1 2 3 5
Floor distance (m) Floor distance (m)
Note : These figures show typical airflow distributions in the conditions above. In the actual installation, they may differ from
these figures under the influence of air temperature conditions, ceiling height, cooling/heating load,obstacles,etc.
MEES20K038

16



6. TEMPERATURE/AIRFLOW DISTRIBUTIONS Wall mounted

PKFY-WL25VLM-E
i{<Coolingmode> " f<Heatingmode>
Horizontal air flow Downward air flow
24 [m/s] [m/s]
211
25, e —
—
2D}5 \\
E
E \<\_1)0 \\05
g, .
T 05 \
\ 05
0 0 1 2 3 4 5 6 2 3 4 5 6
Floor distance (m) Floor distance (m)
PKFY-WL32VLM-E
i{<Coolingmode> " f<Heatingmode>
Horizontal air flow Downward air flow
24 [m/s] 24 [m/s]
2 [I 2
25 —
2.0
}\\
B I~ 0:5, B
= \\ z i
g N\ oD \\\ 3 1 -\
}5\ \ 2.0\
\\\ T~ G ‘ NS
N__1.0 s
0 N ™~ 0 NG5 ™~
0 1 2 3 4 5 6 7 0 1 2 3 4 5 6 7
Floor distance (m) Floor distance (m)
PKFY-WL40VLM-E
i{<Coolingmode> " f<Heatingmode>
Horizontal air flow Downward air flow
24 [m/s] 24 [m/s]
2| |
30 = —
9 ———
2 e los
: \Q\ Mo | N :
2, {05 AN \ 5
T \\) T
\ \
0 —
0 1 2 3 4 5 6 7 3 4 5 6 7
Floor distance (m) Floor distance (m)

Note : These figures show typical airflow distributions in the conditions above. In the actual installation, they may differ from
these figures under the influence of air temperature conditions, ceiling height, cooling/heating load,obstacles,etc.

MEES20K038 MITSUBISHI ELECTRIC CORPORATION 17

F-INMA ‘T-WIA-TM-ANd



PKFY-WL-VLM-E, VKM-E

6. TEMPERATURE/AIRFLOW DISTRIBUTIONS

Wall mounted

PKFY-P50, 63, 80VKM

<Fan mode>
Horizontal air flow

-E

<Fan mode>
Downward air flow

Floor distance (m)

m/s [m/s]
27 [m/s] 7
4.0 |3.0 1 40

2 ———05 ] 2
= —1 T B — 3.0
£ \\> o | T E
= T~ 2.0 =
< =y
= —~ ) I k=l
® I~ \ e

1 1 \

0.5 L ) 2 0\)
1.0
0.59
N \\ / 0 5) 9 10 \“‘\\
0 0
0 1 2 3 4 7 8 0 1 2 3 4 5 7 8

Floor distance (m)

Note : These figures show typical airflow distributions in the conditions above. In the actual installation, they may differ from
these figures under the influence of air temperature conditions, ceiling height, cooling/heating load,obstacles,etc.

MEES20K038

MITSUBISHI ELECTRIC CORPORATION

18



7. ELECTRICAL CHARACTERISTICS

Wall mounted

Symbols: MCA (Max.Circuit Amps =1.25xFLA), FLA (Full Load Amps)
IFM (Indoor Fan Motor), Output (Fan motor rated output)

Power supply

IFM

Volts/Hz Range +-10% MCA(A) Output (kW) FLA(A)
PKFY-WL10VLM-E 0.25 0.030 0.20
PKFY-WL15VLM-E 0.25 0.030 0.20
PKFY-WL20VLM-E 0.32 0.030 0.25
PKFY-WL25VLM-E 720.240V/500H Mo 2647 0.44 0.030 0.35
PKFY-WL32VLM-E 220VI80Lz z Vi : 198V 0.44 0.030 0.35
PKFY-WL40VLM-E 0.57 0.030 0.45
PKFY-WL50VKM-E 0.58 0.069 0.46
PKFY-WL63VKM-E 0.70 0.069 0.56
PKFY-WLB0VKM-E 0.95 0.069 0.76

MEES20K038

MITSUBISHI ELECTRIC CORPORATION

19

F-INMA ‘T-WIA-TM-ANd



PKFY-WL-VLM-E, VKM-E

8. OPTIONAL PARTS

Wall mounted

8-1. Optional parts line up for the Indoor unit

Description

Model

PKFY-WL-VLM-E

Drain pump kit

Valve kit

Attachment plate
6m Lead wire

PAC-SKO01DM-E
PAC-SK35VK-E
PAC-SK39AP-E
PAC-SK40LW-E

PKFY-WL-VKM-E

Drain pump kit

Valve kit

Attachment plate
6m Lead wire

PAC-SK19DM-E
PAC-SK35VK-E
PAC-SK39AP-E
PAC-SK40LW-E

8-2. Drain pump

PAC-SK01DM-E

If drain water can not flow out the Indoor unit by gravity and gradient, a Drain-pump for draining is needed.
Drain pump PAC-SK01DM-E can pump water up to 850mm [33-1/2 in.] high from the drain pan.

Item @ Drain pump @ Screw @ Drain hose @ Flexible hose cover ® Band
Quantity 1 (M4x16)x1, (M4x35)x6 1 1 2
Shape @ f

Item ® Paper gauge
Quantity 1
Shape Qg

Detailed installation information should be referred to its Installation Manual.

PAC-SK19DM-E

If drain water can not flow out the Indoor unit by gravity and gradient, a Drain-pump for draining is needed.
Drain pump PAC-SK19DM-E can pump water up to 850mm [33-1/2 in.] high from the drain pan.

Item @ Drain pump @ Screw @ Drain hose @ Flexible hose cover ® Band
Quantity 1 (M4x16)x1, (M4x35)x6 1 1 2
Shape @ f

Item ® Paper gauge
Quantity 1
Shape Qg

Detailed installation information should be referred to its Installation Manual.

MEES20K038

MITSUBISHI ELECTRIC CORPORATION

20



8. OPTIONAL PARTS

Wall mounted

8-3. Valve kit

Valve kit is necessary for using HVRF-Y system
In an HVRF-R2 system, if a valve kit is connected to any of the WL indoor units, all other indoor units must also have a valve.
The table below summarizes the connectability of different combinations of indoor units.

Item VALVE KIT Band (large) Band (small) Screw
Quantity 1 1 8
Cap
— 5
=
Shape q i — — 5
Lead —
wire (3m)
Qutdoor Unit Indoor Unit Connection
A B C
WLV WLV - Connectable
WLV W - Connectable
WLV WL - Not connectable
WLV WP - Not connectable
WLV WL W Not connectable
HVRF-R2 WLV WL WP Not connectable
System WLV W WP Not connectable
WL WL - Connectable
WL WP - Connectable
WL \W - Not connectable
WL WP \ Not connectable
U WP - Not connectable

WLV = (E)WL-Type (With an optional valve kit)

WL = (E)WL-Type (Without an optional valve kit)
WP = WP-Type (Without a built-in valve and not compatible with the optional valve kit)
W = W-Type (With a built-in valve)

8-4. Attachment plate

When installing the valve kit on the ceiling plate or hanging it from the ceiling, the use of an attachment plate (PAC-SK39AP-E) is recommended.

Iltem

Attachment-1

Attachment-2

Quantity

1

Shape

N

8-5. 6m Lead wire

The lead wire attached to the valve kit is 3 meters. If a longer lead wire is needed, use an optional part PAC-SK40LW-E (6m).
Note that the maximum allowable piping distance between the valve kit and the indoor unit is 5 meters.
Item Lead wire (6m) Band (large)
Quantity 1
Shape
MEES20K038 MITSUBISHI ELECTRIC CORPORATION 21

F-INMA ‘T-WIA-TM-ANd



Wall mounted

MEES20K038 MITSUBISHI ELECTRIC CORPORATION 22



Eco Changes is the Mitsubishi Electric Group’s environmental statement,
and expresses the Group’s stance on environmental management.

CO
ghanges for a greener tomorrow Through a wide range of businesses, we are helping contribute to the
realization of a sustainable society.

AWarning
W Do not use refrigerant other than the type indicated in the manuals provided with the unit and on the nameplate.
- Doing so may cause the unit or pipes to burst, or result in explosion or fire during use, repair, or at the time of disposal of the unit.
- It may also be in violation of applicable laws.
- MITSUBISHI ELECTRIC CORPORATION cannot be held responsible for malfunctions or accidents resulting from the use of the wrong
type of refrigerant.
M Our air conditioning equipment and heat pumps contain a fluorinated greenhouse gas, R410A/R32.

MITSUBISHI ELECTRIC CORPORATION

www. MitsubishiElectric.com

New publication effective Jan. 2021

MEES20K038 Specifications subject to change without notice



	Wall mounted
	CONTENTS
	1. SPECIFICATIONS
	2. EXTERNAL DIMENSIONS
	3. CENTER OF GRAVITY
	4. ELECTRICAL WIRING DIAGRAMS
	5. SOUND LEVELS
	5-1. Sound levels
	5-2. NC curves

	6. TEMPERATURE/AIRFLOW DISTRIBUTIONS
	6-1. Temperature distributions
	6-2. Airflow distributions

	7. ELECTRICAL CHARACTERISTICS
	8. OPTIONAL PARTS
	8-1. Optional parts line up for the Indoor unit
	8-2. Drain pump
	8-3. Valve kit
	8-4. Attachment plate
	8-5. 6m Lead wire




